Post Exam Analysis

The examiners reviewed all questions which were missed by 80% or 100% of the applicants on
the written examination. There were three of these on the SRO exam, five on the RO.

The examiners determined that three of these questions on the RO exam could be improved
with wording enhancements, however all questions were technically correct and valid.



& . RecEwvED

REGION 1
FPL Energy
) , FPL Energy Seabrook Station
Seabrook Station M3 JN 18 PR 1237 P.O. Box 3ggo “
Seabrook, NH 03874

(603) 773-7000

June 16, 2003
NYN-03053

Mr. John Caruso

United States Nuclear Regulatory Commission
475 Allendale Road

King of Prussia, PA 19046-1415

Seabrook Station
Operator Examination Analysis Information

In accordance with section ES-501 of NUREG-1021, "Operator Licensing Examination
Standards for Power Reactors," enclosed is a copy of the completed examination analysis, the
completed Form ES-201-3 "Examination Security Agreement," and a completed Form ES-403-1
"Written Examination Grading Quality Checklist." The documents are associated with the
Licensed Operator Exams that took place the weeks May 26 of June 2. The examination analysis
evaluated all questions that were missed by greater than or equal to 50% of the candidates. The
analysis showed that the questions were technically valid and had only one correct answer. Any
programmatic changes or subsequent evaluations are noted in the analysis. In addition, the
subject questions were reviewed with the candidates to provide a technical remediation for these
1tems.

Should you have any questions regarding this letter, please contact Mr. Daniel Roy, Training
Manager at (603) 773-7602.

Very truly yours,

FPL Energy Segbyook, LLC.

res M. Peschel
egulatory Programs Manager
cc:

H. J. Miller, NRC Region I Administrator

V. Nerses, NRC Project Manager, Project Directorate I-2

G. T. Dentel, NRC Senior Resident Inspector



ENCLOSURE TO NYN-03053




SEABROOK STATION NRC EXAM ANALYSIS

RO/SRO COMMON QUESTIONS



RO&SRO QUESTION #3 (5/10 incorrect)
The following plant conditions exist:

The power plant is operating at 100%.

Service water pump P-41A is tagged out for corrective maintenance.
Service water pump P-41C trips.

A tower actuation (TA) signal is manually generated, realigning service
water supply to the cooling tower.

The OAO cooling tower pump current is oscillating between 20-50 amps
on SW-AM-6167.

O PCCW HX OAQO outlet temperature is 90F and rising slowly.

O 0Ogn.o

What actions are required per 0S1216.01, “Degraded Ultimate Heat Sink™?

A. Start an additional service water B0 train pump and cross connect with ‘A’ train
service water and initiate a plant shutdown In accordance with 0S1000.06,
“Power Decrease”.

B. Continue efforts to restore service water flow. If cannot restore train ‘A’ service
water, initiate a plant shutdown in accordance with OS51000.06, “Power
Decrease”.

C. Continue efforts to restore service water flow. If cannot restore train ‘A’ service

water, begin securing train ‘A’ service water loads In accordance with attachment
‘B’ of 0S1216.01, “Degraded Ultimate Heat Sink”.

D. Start additional ‘B’ train service water pump and cross connect service water
trains In accordance with 0S1016.03, “Service Water Train ‘A’ Operation”.
Secure train ‘A’ service water loads In accordance with attachment ‘B’ of
0S1216.01, “Degraded Ultimate Heat Sink.”

ANSWER: C

EXPLANATION:

C - is correct; 0S1216.01 describes the actions in choice C
A,D - incorrect - do not cross connect trains ever.

B - incorrect - this is action for BOTH trains inoperable

Analysis:

e All individuals missing this question selected ‘B.’
The question is technically valid, however it is felt that the Operational
Validity of testing an arcane RNO is questionable.

e Question reviewed with students — no further programmatic actions
needed.



RO/SRO QUESTION #19 (7/10 incorrect)
The following conditions exist:

O The crew is attempting to determine the location of a 10 gpm leak in the
charging system.

Prior to the leak charging flow was 87 gpm and letdown flow was 75gpm.
VCT level is decreasing.

All systems are in automatic.

The NSO reports an indication of leakage from the body of CS-V210,
Charging Pump >A= Discharge Isolation Valve.

oocoa

After the transient is complete (steady state to steady state), what would be a positive
indication the operator would have on the main control board that CS-V210 is the source
of the leak?

A. Decreased indicated charging flow and pressurizer level decreasing.

B. No change in indicated charging flow from its initial value and pressurizer level on
program.

C. Increased indicated charging flow and pressurizer level on program.
D. Increased indicated charging flow and pressurizer level increasing.
ANSWER: B

EXPLANATION:

B - correct - charging flow control valve will maintain PZR level steady by increasing flow
by opening flow control valve.

A - incorrect - indicated charging flow does not change; PZR level is constant

C - incorrect - indicated charging flow does not change

D - incorrect - indicated charging flow does not change; PZR level is constant

Analysis:

e 1 individual selected ‘A,’ 5 individuals selected ‘C,’ 1 individual selected
§ D. E

e The question (a Seabrook bank question) was reviewed with the
students and is determined to be technically valid.

e No further programmatic actions needed.



RO/SRO QUESTION #31 (6/10 incorrect)

The following conditions exist:

t The plant is in mode 6.
O The Manipulator Crane area radiation monitor, R-6535A, is alarming at the
ALARM level.

Which of the following describes the Containment Air Purge and Containment Online
Purge COMPLETE automatic system response, if any, to this alarm?

A. Containment Air Purge (CAP) and Containment Online Purge (COP) isolation valves
shut.

B. CAP and COP isolation valves shut, CAP and COP fans trip or are blocked from
starting.

C. CAP and COP isolation valves shut, CAP, COP, and refueling purge fans trip or are
blocked from starting.

D. There is no automatic feature for this ARM.

ANSWER: C
EXPLANATION:

C - correct - the alarm will initiate a containment ventilation isolation (CVI) signal which
automatically shuts CAP and COP isolation valves and stops/blocks the CAP, COP, and
refueling purge fans.

A - incorrect - not all of the automatic actions
B - incorrect -not all actions
D - incorrect

Analysis:

e 6 individuals selected ‘B.’
The question was reviewed with the students and is determined to be
technically valid.

¢ No further programmatic actions needed.



RO/SRO QUESTION #32 (5/10 incorrect)

The following conditions exist:

O Reactor power is at 100% with power range channel N-41 failed. All
bistables for N-41 are tripped.

O Power range channel N-44 is determined to be failed as is. N-44 bistables
are NOT tripped.

O N-44 cannot be repaired within the allotted time, and a power decrease to
HOT

STANDBY is commenced.

Which of the following describes the effect the channel failures have on plant operation
during the down power ramp to hot standby with no operator action?

A. The failures have no effect on plant operation.

B. P-7 will fail to block its associated reactor trips.

C. The reactor will trip when power decreases below 10% power.
D. Source range permissive P-6 will fail to activate.

ANSWER: B

EXPLANATION:

2/4 > 10% needed to activate trips: 3/4 decreasing to block trips: 2 detectors are
Ostuckd >10%

A - incorrect
C - incorrect
D - P-6 is IR instrument

Analysis:

3 individuals selected ‘C,’ 2 individuals selected ‘D.’

s The question (a Seabrook bank question) was reviewed with the
students and is determined to be technically valid.

¢ No further programmatic actions needed.



RO/SRO QUESTION #34 (5/10 incorrect)

The following conditions exist:

O The plant is at 85% power.

O OAO MFP trips and a setback is in progress.

O] All steam dumps (SDs) fail to open as required.
a A steam dump arming signal is present.

Which one of the following describes the effect on the main steam system and what is
the required response to the stuck SD valves per 0$1231.03, OTurbine
Runback/Setbackd?

Note: Pressures and temperatures below refer to S/G conditions prior to any operator or
automatic corrective action.

A. Main steam pressure remains constant through the setback, no corrective action for
the steam dumps is required because ASDVs and S/G reliefs will relieve pressure.

B. Main steam pressure rises through the setback, no corrective action for the steam
dumps is required because ASDVs and S/G safeties will relieve pressure.

C. Main steam pressure rises through the setback, try to manually operate steam dump
valves.

D. Main steam pressure increases through the setback. Without steam dumps, the
reactor will trip on high pressurizer level. Go to E-0, [OReactor Trip or Safety Injectiond.

ANSWER: C
EXPLANATION:

C - correct - load decrease on turbine causes S/G pressure and temperature to increase,
procedure says to manually operate SDs if proper SD actuation did not take place.

A - incorrect - pressure increases.

B - action is required, either manual operation of steam dumps, or FR-H.4 calls for
ASDV operation if yellow path is completed in Heat Sink CSF.

D - incorrect - will not get to trip setpoint.

Analysis:

o 1individual selected ‘B,’ 4 individuals selected ‘D.’

o The question was reviewed with the students and is determined to be
technically valid.

e No further programmatic actions needed.



RO/SRO QUESTION #40 (5/10 incorrect)

What are the most abundant radioisotopes (microCi/mi) in a liquid waste discharge and
what biological hazard do they pose to humans?

A. Cobalt-60 and iodine-131; internal and external biological hazard

B. Cobalt-60 and tritium (H-3); external biological hazard only

C. Tritium (H-3) and iodine-131; internal and external biological hazard only
D. Tritium (H-3) and iodine-131; internal biological hazard only

ANSWER: D
EXPLANATION:

D - Analysis in FSAR describes tritium and iodine as most abundant; both isotopes are
beta particle emitters and an internal hazard only.

A, B, C - incorrect
Analysis:

e 2 individuals selected ‘A,’ 2 individuals selected ‘B,’ 1 individual
selected ‘'C.”

e The question is technically valid, however it is felt that the Operational
Validity of this item questionable.

e Question reviewed with students — no further programmatic actions
needed.



RO/SRO QUESTION #49 (8/10 incorrect)

The following plant conditions exist:

O The plant is recovering from a large break LOCA that occurred 4 days ago.

O The crew receives VAS alarm, ACO ALARM EAH-F-9" for enclosure air
handling filter F-9.

O The US implements OS1200.00, “Response to Fire or Fire Alarm
Actuation”.

In accordance with OS1200.00, what actions must the crew take?

A. Secure associated fan within 5 minutes. Fire brigade must be dispatched and
located at F-9 within 10 minutes of being notified.

B. Secure associated fan within 5 minutes. Fire brigade must be dispatched and
located at F-9 within 15 minutes of being notified.

C. Secure associated fan within 10 minutes. Fire brigade must be dispatched to
investigate.

D. Secure associated fan within 10 minutes. Fire brigade must be dispatched and
located at F-9 within 15 minutes of being notified.

ANSWER: A

EXPLANATION:
A - correct - 0S$1200.00 directs these actions within these time limits.
B,C,D - incorrect

Analysis:

5 individuals selected ‘B,’ 1 individual selected ‘C,’
The question was reviewed with the students and is determined to be
technically valid.

e CR (TDR) written to evaluate the referenced learning objective for its
adequacy in covering this NOTE/CAUTION.



RO/SRO QUESTION #57 (5/10 incorrect)

The plant is operating at 100% power. 13.8 kV bus #2 is lost. Which of the following is
a valid plant response and what actions are required to mitigate the response?

A. Steam dumps arm and open due to plant heatup, MSIVs should be closed in steam
lines ‘'C’ and ‘D’ to prevent loop cooldown.

B. Flow reversal in coolant loops ‘A’ & ‘B’, attempt to restore bus and restart RCPs ‘C’
&'D’ In accordance with E-0, ‘Reactor Trip or Sl Injection’.

C. Loops ‘A’ & ‘B’ Tave and Th decrease. Shut loop ‘A’ and ‘B’ MSIV to arrest
cooldown

D. Loops ‘A’ & ‘B’ Tave and Th decrease. Attempt to restore 13.8kV bus #2 and restore
flow by restarting RCPs In accordance with normal operating procedures.

ANSWER: D
EXPLANATION:

Trip causes all loop Tave, Th to decrease. Operators should perform actions of E-0,
then ES-0.1. Which directs restoration of plant systems In accordance with nhormal
operating procedures.

A - MSI|Vs are not directed to be shut
B - No flow reversal in A & B (C&D lost)
C -same as A.

Analysis:

e 2 individuals selected ‘A,’ 1 individual selected ‘B,’ 2 individuals
selected ‘C.”
The question is technically valid.
Question reviewed with students — no further programmatic actions
needed.



RO/SRO QUESTION #71 (8/10 incorrect)
The following plant conditions exist:

The power plant is operating at 55% following a rapid power decrease.
Xenon requires diluting the RCS at a rate of 100 gallons per hour.
Excess letdown is in service.

Letdown was previously isolated due to a containment isolation valve
failure.

VCT level is 70%.

O OOoOo.

How should the operator control VCT inventory in accordance with plant procedures?
A. The VCT will automatically divert as level increases.
B. Excess letdown is directed to the reactor coolant drain tank (RCDT) as required.

C. Excess letdown is aligned to the top of the VCT. The VCT will divert as level
increases.

D. The operator will place the control switch for CS-LCV/LV-112A to DIVERT as needed,
which will align letdown and excess letdown to the PDT.

ANSWER: B
EXPLANATION:

B - V-170 is available in excess letdown line to divert water to RCDT
A - incorrect

C - incorrect

D - 112Ais not in excess letdown path

Analysis:

e 4 individuals selected ‘A,’ 4 individuals selected ‘D.’
The question (a Seabrook bank question) was reviewed with the
students and is determined to be technically valid.

e No further programmatic actions needed.



RO ONLY QUESTIONS



RO QUESTION #81 (4/5 incorrect)
The following plant conditions exist:

A reactor startup is in progress.

Reactor power is 4x10° cps on source range channels, Ni-31 and NI-32.
Reactor power is about 1.5x10™"" amps on intermediate range channels
N35 and N36.

Power is lost to 120 VAC panel EDE-PP-1B.

NI-31 now reads 0 cps.

SR 31 HIGH VOLTAGE LOST VAS alarm is indicated.

Oo0O 0O0ad

Which one of the following describes the complete set of action requirements for the loss
of nuclear instrumentation?

A. Table 3.3.1. action statement 4 only.

B. Table 3.3.1. action statement 2 and 4 only.

C. Table 3.3.1 action statements 2, 3 and 4 only.

D. Table 3.3.1 action statements 2,3,4 and LCO 3.0.3.
ANSWER: D

EXPLANATION:

D - correct - bus EDE-PP-1B powers one PRNI, one IRNI and SRNI N-32. The loss of 2
SRNIs puts the facility in LCO 3.03. The action statements for the three detectors still

apply.
A,B,C - incorrect - 2 SRNIs, 1 IRNI, and 1 PRNI are inoperable.
Analysis:

3 individuals selected ‘A,’ 1 individuals selected ‘C.’
The question was reviewed with the students and is determined to be
technically valid.

e No further programmatic actions needed.



RO QUESTION #83 (4/5 incorrect)
The following plant conditions exist:

The reactor was at 100%.

Tave = 687F, RCS pressure is 2235 psig.

PCV-456A PORYV and associated block valve are stuck open.

RCS temperatures are stable.

The reactor trips and Sl is initiated.

The crew transitions from E-0, “Reactor Trip or Safety Injection”, to E-1,
“Loss of Reactor or Secondary Coolant”.

All systems are functioning as expected with the exception of the stuck
open PORV & block valve.

O Pressure is currently at 1350 psig and decreasing.

O OO0O0O00

Which of the following statements is providing accurate guidance for operation of RHR
pumps as per E-1 and what is the basis?

A. Secure RHR pumps because primary pressure is greater than 260 psig to reduce
burden on EDGs during design basis accident.

B. Do not secure RHR pumps because primary pressure and level instrumentation are
not reliable during steam space accident.

C. Secure RHR pumps and place in standby to prevent damage to the pump because
pressure will not drop below 1250 psig for 1 stuck open PORV.

D. Do not secure RHR pumps because they may be needed at lower primary pressure
ANSWER: D

Explanation of answer: Step 8 does not allow securing RHR pump if pressure is
decreasing

Explanation of distractors:

A. not basis for securing RHR

B. pressure instrumentation is okay; level instrument is not
C. cannot secure pump while pressure dropping

Analysis:

o 4 individuals selected ‘C
The question was reviewed with the students and is determined to be
technically valid.

e No further programmatic actions needed.



RO QUESTION #88 (4/5 incorrect)

The following plant conditions exist:

The operating crew is responding to “Inadequate Core Cooling”, FR-C.1.
The crew is unable to re-initiate ECCS flow.

S/G depressurization proved ineffective due to loss of secondary heat sink.
All core exit thermocouples indicate >1100F.

RVLIS indicates 35% and slowly decreasing.

RCP seal injection startup criteria cannot be established.

O0oogo

Which of the following actions are required by FR-C.1 ?

A

B.

Do not damage RCPs by starting; continue attempts to reestablish ECCS flow.

Do not damage RCPs by starting; continue attempts to reestablish ECCS and
secondary heat sink.

Start only one RCP in any available RCS loop. Continue operation of one RCP until
core exit thermocouples are less than 725F.

Start RCPs one at a time in an available RCS loop, until core exit thermocouples are
less than 1100F.

ANSWER: D

EXPLANATION:

prescribed actions in FR-C.1

A - RCPs are to be started regardiess of starting criteria
B - RCPs are to be started regardless of starting criteria

C-

Not restricted to only one RCP

Analysis:

1 individual selected ‘B,’ 3 individuals selected ‘C.
The question was reviewed with the students and is determined to be
technically valid.

o No further programmatic actions needed.



RO QUESTION #89 (3/5 incorrect)
The CSFs indicate the following:

O RED Path on Core Cooling
O RED Path on Heat Sink

FR-C.1, “Response to Inadequate Core Cooling”, has been entered.

When the crew starts RCPs, the Core Cooling Status Tree changes to an ORANGE
condition.

Which of the following actions should the crew take?
A. Immediately transition to FR-H.1, “Response to Loss of Heat Sink.”
B. Immediately transition to FR-C.2, “Response to Degraded Core Cooling”.
C. Remain in FR-C.1 until completion, then transition to FR-H.1.
D. Remain in FR-C.1 until completion, then transition to FR-C.2.
ANSWER: C
EXPLANATION:
EOP users guide, section 4.3, page 9.
B and D are incorrect because they require transition to a lower priority procedure in the
higher safety function. All REDS take precedence over all ORANGES. A is incorrect
because once the FRP is started, it is followed to completion.
Analysis:
3 individuals selected ‘A.’
The question was reviewed with the students and is determined to be

technically valid.
* No further programmatic actions needed.



RO QUESTION #91 (3/5 incorrect)

Given the following conditions:

U The crew is performing actions of ES-1.2, “Post LOCA Cooldown and
Depressurization”.

O Pressurizer level is stable at 58%.

O RCS pressure is stable at 1680 psig.

O The US determines that a charging pump can be stopped In accordance
with ES-1.2.

O RCS temperature is stable at 545F.

When the RO stops the charging pump, which one of the following describes the
expected PZR level response?

A. PZR level will remains unchanged.

B. PZR level rises due to pressure reductions.

C. PZR level and pressure will stabilize at a lower level and pressure.
D. PZR level initially drops, then rises as pressure is reduced.
ANSWER: C

EXPLANATION:

Removal of high head pump reduces flow, conditions were stable, break flow/injection
flow stabilize at new lower PZR level and pressure

A - level will drop with reduced flow
B - break is not isolated level will drop
C - level will drop regardless of charging alignment

Analysis:

e 3individuals selected ‘D.’

o The question was reviewed with the students and is determined to be
technically valid.

e No further programmatic actions needed.



RO QUESTION #93 (3/5 incorrect)

The plant is at the following conditions:

O 100% power.

O Tave = 587F.

U RCS pressure = 2235 psig.

U Control rods are in manual.

u An inadvertant dilution is in progress.

What is the expected first-out indication without operator action?
A. Over Power Delta-T HI

B. Over Temp Delta-T HI

C. Neutron Flux Level HI

D. PZR Pressure Hl

ANSWER: B

EXPLANATION:

B - UFSAR analysis of dilution accident at power will result in over temperature Delta-T
protective action.

A, C, D - incorrect

TECHNICAL REFERENCE(S): UFSAR Section 15.4.6.2g (Attach if not
previously provided)

Analysis:

2 individuals selected ‘A,’ 1 individual selected ‘C.’
The question was reviewed with the students and is determined to be
technically valid.

¢ No further programmatic actions needed.



RO QUESTION #99 (3/5 incorrect)

The following plant conditions exist:

O The plant is operating at 100%.

O All systems are lined up in their normal lineups.

O All control systems are in automatic.

U The main turbine generator output breaker trips on a fault.

Which of the following describes the expected immediate plant response ?

A. S/G pressure initially decreases as main turbine is lost, S/G levels initially decrease
due to shrink, feed flow initially increases.

B. S/G pressure initially increases as main turbine is lost, S/G levels initially decrease
due to shrink, feed flow initially increases.

C. S/G pressure initially decreases as main turbine is lost, S/G levels initially increase
due to lower steam pressure, feed flow initially decreases.

D. S/G pressure initially increases as main turbine is lost, S/G levels initially decrease
due to shrink, feed flow initially decreases.
ANSWER: D
EXPLANATION;:
D - correct - initially (prior to steam dumps opening), steam header pressure increases
due to the loss of steam demand. The increased back-pressure in the S/Gs partially
suppresses boiling which causes shrink to occur in the S/Gs. The reduced steam
demand inputs to the feed controller to reduce feed thus feed flow decreases.
A,B,C - incorrect
Analysis:
3 individuals selected ‘B.’
e The question was reviewed with the students and is determined to be

technically valid.
¢ No further programmatic actions needed.



SRO ONLY QUESTIONS




SRO QUESTION #79

The following plant conditions exist:

O The plant is at 100% power.

O The ‘B’ Emergency Diesel Generator (EDG) was declared INOPERABLE
yesterday at 0600.

O At 0800 today (26 hours after ‘B’ EDG was declared INOPERABLE), the

SM has discovered that the operability run for the ‘A’ EDG is required and
has not been performed.

What action is required?
A. The unit must be in at least HOT STANDBY by 1200 today.

B. The operability run on the ‘A’ EDG must be performed successfully by 0600
tomorrow or be in at least HOT STANDBY within the next 6 hours..

C. The operability of the ‘A’ EDG must be successfully performed by 1200 today or be
in at least HOT STANDBY within the next 6 hours.

D. The operability surveillance of ‘A’ EDG must be performed successfully by 1000
today or be in at least HOT STANDBY within the next 6 hours.

ANSWER: D

EXPLANATION:

D - correct - EDG ‘A’ becomes INOPERABLE at 0600 today if it is not run successfully.
Action statement (f) reads: “with two of the above required diesel generators
inoperable....restore at least one of the inoperable diesel generators to OPERABLE
status within 2 hours or be in at least HOT STANDBY within the next six hours.

A - incorrect - licensee has 2 hours to show operability.

B - incorrect - 24 hour extension applies to normal surveillances not required by action
statements (SR4.0.3) and less than 24 hour frequencies.

C - incorrect - SR 4.0.2 requires that surveillances be completed within 1.25 their stated
time limit, or 24x1.25 = 30 hours for this case, or 1200 today. Action statement requires
operability to be determined within 24 hours, or by 0600 today.

Analysis:

1 individual selected ‘B,’ 3 individuals selected ‘C’.
The question was reviewed with the students and is determined to be
technically valid.

¢ No further programmatic actions needed.



SRO QUESTION #90

The following plant conditions exist:

O A reactor startup is in progress.

g The reactor is at 48%.

0] Containment temperature is 128F.
O Containment pressure is 16.0 psia.

What action(s), if any, are required and why?

A. Take action to reduce containment temperature. Temperature is outside the band
used in the overall safety analysis for a steam line break accident.

B. Take action to reduce containment temperature. Temperature is outside the band
used in the overall safety analysis for a large break LOCA accident.

C. Restore the internal pressure to within limits within 1 hour, or be in HOT STANDBY
within the next 6 hours and in COLD SHUTDOWN within the following 30 hours.
Pressure is kept in the allowable band to prevent exceeding the containment design
pressure during LOCA conditions.

D. Restore the internal pressure to within limits within 1 hour, or be in HOT STANDBY
within the next 6 hours and in COLD SHUTDOWN within the following 30 hours.
Pressure is kept in the allowable band to prevent exceeding the containment design
pressure during a steam line break accident.

ANSWER: A

EXPLANATION:
A - correct - TS 3/4.6.1.5 limits containment air temperature to 120F because the safety
analysis for the steam line break accident has bounded initial conditions on temperature.

B - incorrect - not for LOCA analysis
C - incorrect - pressure is below the TS limit of 16.2 psia.
D - incorrect - pressure is below the TS limit of 16.2 psia and basis is LOCA not SLB.

Analysis:

3 individuals selected ‘B,’ 1 individual selected ‘C’.
The question was reviewed with the students and is determined to be
technically valid.

e No further programmatic actions needed.



Seabrook NRC Written Exam - RO
Standard Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Highest Score: 90.00
Student in this group: 5 Mean Score: 83.00 Lowest Score: 80.00
Standard Deviation: 3.79  Reliability Coefficient (KR20): 0.57
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper27%| Lower 27% | Biserial|  Answer B c D Distractor
1 80.00%| 100.00% 0.00% 0.40 A *4 0 0 1 BC
2 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
3 40.00%| 100.00% 0.00% 0.43 Cc 0 *2 0 AD
4 100.00%| 100.00% 100.00% 0.00 A *5 0 BCD
5 60.00%] 100.00% 100.00% 0.22 B 2 *3 0 CD
6 100.00%] 100.00% 100.00% 0.00 A *5 0 0 BCD
7 100.00%] 100.00% 100.00% 0.00 C 0 *5 0 ABD
8 100.00%| 100.00% 100.00% 0.00 A *5 0 0 BCD
9 80.00%] 100.00% 100.00% 0.26 B 1 *4 0 CD
10 100.00%} 100.00% 100.00% 0.00 D 0 0 *5 ABC
1" 100.00%; 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
12 60.00%| 100.00% 0.00% 0.54 Cc 2 0 *3 0 BD
13 60.00%{ 100.00% 100.00% 0.22 D 1 1 0 *3 c
14 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
15 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
16 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
17 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
18 100.00%} 100.00% 100.00% 0.00 C 0 *5 0 ABD
19 20.00%| 100.00% 0.00% 0.92 B 1 *1 2 1
20 80.00% 0.00% 100.00% -0.92 B 1 *4 0 CD
21 80.00%| 100.00% 100.00% 0.26 C 0 1 *4 0 AD
22 80.00%| 100.00% 100.00% 0.40 A *4 1 0 0 CD
23 80.00%| 100.00% 100.00% 0.40 C 0 1 *4 0 AD
24 100.00%| 100.00% 100.00% 0.00 C 0] 0 *5 0 ABD
25 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
26 80.00%| 100.00% 0.00% 0.40 D 1 0 *4 BC
27 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
28 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
29 100.00%| 100.00% 100.00% 0.00 A *5 0 0] BCD
30 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
31 40.00%| 100.00% 0.00% 0.86 C 0 3 *2 0 AD
32 40.00%| 100.00% 0.00% 0.54 B 0 2 1 2 A
33 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
34 40.00%; 100.00% 0.00% 0.54 Cc 0 1 *2 2 A
35 80.00%| 100.00% 100.00% 0.26 B 0 *4 1 0 AD
36 100.00%} 100.00% 100.00% 0.00 B 0 *5 4] 0 ACD
37 100.00%| 100.00% 100.00% 0.00 B 0] *5 0 ACD
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Seabrook NRC Written Exam - RO
Standard Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Highest Score: 90.00
Student in this group: 5 Mean Score: 83.00 Lowest Score: 80.00
Standard Deviation: 3.79 Reliability Coefficient (KR20): 0.57
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper 27%]| Lower 27%)| Biserial]  Answer A B C D Distractor
38 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
39 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
40 60.00%| 100.00% 0.00% 0.65 D 0 1 1 *3 A
41 100.00%} 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
42 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
43 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
44 100.00%] 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
45 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
46 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
47 100.00%| 100.00% 100.00% 0.00 C 0 *5 0 ABD
48 100.00%| 100.00% 100.00% 0.00 B *5 0 0 ACD
49 40.00% 0.00% 0.00% -0.54 A *2 2 1 0 D
50 100.00%| 100.00% 100.00% 0.00 B *5 0 0 ACD
51 100.00%| 100.00% 100.00% 0.00 C 0 *5 0 ABD
52 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
53 100.00%| 100.00% 100.00% 0.00 A *5 0 BCD
54 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
55 80.00%| 100.00% 100.00% 0.40 D 1 0 *4 BC
56 100.00%] 100.00% 100.00% 0.00 C 0 *5 o] ABD
57 60.00%| 100.00% 100.00% 0.54 D 2 *3 BC
58 80.00%| 100.00% 0.00% 0.40 D 1 0 *4 BC
59 100.00%) 100.00% 100.00% 0.00 B 0 *5 o] ACD
60 100.00%} 100.00% 100.00% 0.00 Cc 0 *5 0 ABD
61 100.00%| 100.00% 100.00% 0.00 A *5 0 BCD
62 100.00%} 100.00% 100.00% 0.00 A *5 0 BCD
63 100.00%} 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
64 100.00%} 100.00% 100.00% 0.00 B 0 *5 0 (] ACD
65 60.00%] 100.00% 100.00% 0.54 c 1 *3 1 A
66 100.00%]| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
67 100.00%{ 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
68 60.00% 0.00% 0.00% -0.43 D 0 1 1 *3 A
69 80.00% 0.00% 100.00% -0.92 A *4 1 0 0 CD
70 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
71 0.00% 0.00% 0.00% 0.00 B 2 *0 3 0 BD
72 100.00%| 100.00% 100.00% 0.00 Cc 0 0 *5 0 ABD
73 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
74 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
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Seabrook NRC Written Exam - RO
Standard Item Analysis Report On Exam12 Version A

Course #:  LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Highest Score: 90.00
Student in this group: 5 Mean Score: 83.00 Lowest Score: 80.00
Standard Deviation: 3.79  Reliability Coefficient (KR20): 0.57
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper 27%| Lower 27%| Biserial Answer A B C D Distractor
75 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
76 100.00%{ 100.00% 100.00% 0.00 A *5 0 0 0 BCD
77 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
78 60.00%| 100.00% 100.00% 0.1 B 2 *3 0 CcD
79 60.00%} 100.00% 0.00% 0.65 Cc 1 1 *3 D
80 80.00%} 100.00% 100.00% 0.26 B 0 *4 1 AD
81 20.00%| 100.00% 0.00% 0.92 D 3 0 1 *1 B
82 80.00%| 100.00% 100.00% -0.13 D 1 *4 BC
83 20.00% 0.00% 100.00% -0.40 D 0 *1 AB
84 60.00%| 100.00% 0.00% 0.22 C 0 ] *3 AB
85 60.00% 0.00% 100.00% -0.43 B 1 *3 1 D
86 100.00%| 100.00% 100.00% 0.00 b 0 0 *5 ABC
87 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
88 20.00%| 100.00% 0.00% 0.92 D 0 1 3 *1 A
89 40.00% 0.00% 0.00% -0.22 C 3 0 *2 0 BD
90 100.00%} 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
91 40.00% 0.00% 0.00% -0.54 C 0 *2 3 AB
92 100.00%| 100.00% 100.00% 0.00 A *5 0 0 BCD
93 40.00% 0.00% 100.00% -0.22 B 2 *2 1 0 D
94 60.00%| 100.00% 100.00% 0.54 C 2 *3 o] AD
95 100.00%) 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
96 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
97 100.00%] 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
98 100.00%, 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
99 40.00%| 100.00% 0.00% 0.43 D 0 0 *2 AC
100 |100.00%} 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
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Seabrook NRC Written Exam -SRO
Staridard Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Highest Score: 92.00
Student in this group: 5 Mean Score: 87.40 Lowest Score: 81.00
Standard Deviation: 3.93 Reliability Coefficient (KR20): 0.69
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper 27%] Lower 27%)| Biserial|  Answer B c D Distractor
1 100.00%} 100.00% 100.00% 0.00 A *5 0 0 BCD
2 100.00%| 100.00% 100.00% 0.00 B *5 0 0 ACD
3 60.00%| 100.00% 100.00% -0.23 Cc 0 *3 0 AD
4 100.00%| 100.00% 100.00% 0.00 A *5 0 BCD
5 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
6 100.00%| 100.00% 100.00% 0.00 A *5 0 BCD
7 80.00%| 100.00% 0.00% 0.81 c 0 *4 1 AB
8 100.00%| 100.00% 100.00% 0.00 A *5 0 0 BCD
9 60.00%| 100.00% 0.00% 0.81 B 1 *3 1 Cc
10 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
1 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
12 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
13 60.00%] 100.00% 0.00% 0.29 D 1 1 0] *3 C
14 100.00%} 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
15 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
16 60.00% 0.00% 100.00% -0.85 B 0 *3 0 2 AC
17 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
18 100.00%| 100.00% 100.00% 0.00 C 0 *5 0 ABD
19 40.00%| 100.00% 0.00% 0.85 B 0 *2 3 0 AD
20 80.00% 0.00% 100.00% -0.59 B 1 *4 0] CD
21 40.00%| 100.00% 0.00% 0.85 C 0 2 *2 1 A
22 80.00%| 100.00% 0.00% 0.81 A *4 0 0 1 BC
23 80.00%| 100.00% 0.00% 0.81 C o] 1 *4 0 AD
24 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
25 100.00%} 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
26 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
27 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
28 60.00%; 100.00% 100.00% -0.33 D 0 1 1 *3 A
29 100.00%] 100.00% 100.00% 0.00 A *5 0 0 0 BCD
30 100.00%| 100.00% 100.00% 0.00 Cc 0 0 *5 0 ABD
31 40.00% 0.00% 100.00% -0.71 C 0 3 2 0 AD
32 60.00%} 100.00% 0.00% 0.81 B 0 *3 2 0 AD
33 100.00%| 100.00% 100.00% 0.00 C 0] 0 *5 0 ABD
34 60.00%| 100.00% 0.00% 0.71 Cc 0 *3 2] AB
35 100.00%; 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
36 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
37 100.00%] 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
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Seabrook NRC Written Exam -SRO
Standard Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Highest Score: 92.00
Student in this group: 5 Mean Score: 87.40 Lowest Score: 81.00
Standard Deviation: 3.93 Reliability Coefficient (KR20): 0.69
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper27%)| Lower 27%| Biserial Answer A B c D Distractor
38 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
39 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
40 40.00% 0.00% 100.00% -0.71 D 2 1 0] *2 C
41 100.00%] 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
42 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
43 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
44 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
45 80.00%| 100.00% 0.00% 0.81 A *4 1 0 0 CcD
46 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
47 80.00%| 100.00% 0.00% 0.81 C 1 o] *4 0] 8D
48 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
49 0.00% 0.00% 0.00% 0.00 A *0 3 0 AD
50 80.00%| 100.00% 100.00% 0.18 B 0] *4 1 AC
51 80.00%] 100.00% 0.00% 0.81 C *4 1 AB
52 100.00%| 100.00% 100.00% 0.00 C 0 *5 0 ABD
53 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
54 100.00%] 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
55 60.00%{ 100.00% 0.00% 0.71 D 1 1 *3 B
56 100.00%] 100.00% 100.00% 0.00 C 0 *5 0 ABD
57 40.00%| 100.00% 0.00% 0.85 D 0 1 *2 A
58 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
59 100.00%] 100.00% 100.00% 0.00 B 0 *5 0 ACD
60 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
61 100.00%) 100.00% 100.00% 0.00 A *5 0 BCD
62 100.00%| 100.00% 100.00% 0.00 A *5 0 0 BCD
63 100.00%| 100.00% 100.00% 0.00 B *5 0 ACD
64 100.00%| 100.00% 100.00% 0.00 B 0] *5 0 0 ACD
65 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
66 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
67 100.00%| 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
68 80.00%] 100.00% 100.00% -0.46 D 1 0 0 *4 BC
69 100.00%} 100.00% 100.00% 0.00 A *5 0 0 0 BCD
70 100.00%] 100.00% 100.00% 0.00 D 0 0 0 *5 ABC
71 40.00%| 100.00% 0.00% 0.33 B 2 *2 1 0 D
72 100.00%] 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
73 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
74 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 ACD
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Seabrook NRC Written Exam -SRO

Standard Item Analysis Report On Exam12 Version B

AO

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Highest Score: 92.00
Student in this group: 5 Mean Score: 87.40 Lowest Score: 81.00
Standard Deviation: 3.93 Reliability Coefficient (KR20): 0.69
Correct Group Responses Point Correct Response Frequencies - * indicates correct answer Non
No. | Total | Upper27%]| Lower 27%)| Biserial|  Answer B c D Distractor
75 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
76 100.00%| 100.00% 100.00% 0.00 C 0 0 *5 0 ABD
77 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
78 100.00%( 100.00% 100.00% 0.00 C 0 0 *5 o] ABD
79 20.00% 0.00% 0.00% 0.46 D 0 1 3 *1 A
80 60.00% 0.00% 100.00% -0.33 C 0 1 *3 1 A
81 80.00%| 100.00% 100.00% 0.05 D 0 0 1 *4 AB
82 100.00%]| 100.00% 100.00% 0.00 C 0] 0 *5 0 ABD
83 100.00%| 100.00% 100.00% 0.00 Cc 0 0 *5 0 ABD
84 60.00%| 100.00% 0.00% 0.71 B 2 *3 0 0 CD
85 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
86 100.00%| 100.00% 100.00% 0.00 B 0 *5 0 0 ACD
87 100.00%| 100.00% 100.00% 0.00 B *5 0 0 ACD
88 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
89 100.00%; 100.00% 100.00% 0.00 (o 0 *5 0] ABD
g0 20.00% 0.00% 0.00% 0.46 A *1 3 1 0 D
91 100.00%| 100.00% 100.00% 0.00 D 0 0 *5 ABC
92 100.00%| 100.00% 100.00% 0.00 A *5 0 0 BCD
93 100.00%| 100.00% 100.00% 0.00 Cc 0 0 *5 0 ABD
94 100.00%| 100.00% 100.00% 0.00 A *5 0 0] 0 BCD
95 100.00%| 100.00% 100.00% 0.00 Cc 0 0 *5 0 ABD
96 80.00%| 100.00% 100.00% 0.18 A *4 1 0 0 CD
97 80.00%| 100.00% 100.00% 0.05 B 0 *4 0 1 AC
98 100.00%| 100.00% 100.00% 0.00 A *5 0 0 0 BCD
99 100.00%| 100.00% 100.00% 0.00 D 0 *5 ABC
100 }100.00%| 100.00% 100.00% 0.00 D 0 *5 ABC
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Seabrook NRC Written Exam - RO
Class Response Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Response Description
<dash> correct response <#> multiple marks <space> noresponse
<alphabet> student's incorrect response <*>  bonus test item
Test Items: 51-55 56-60 61-65 66-70 71-75 76-80 81-85 86-90 91-95 96-100
Test Key: c,C,A,B,D|C,D,D,B,C|A,A,B,B,C}A,D,D,A,D|B,C,B,B,BA,D,B,C,B|D,D,D,C,BD,B,D,C,B{C,A,B,C,B|A,B,D,D,D
No. StudentID Exam#
110192 122 f-,-,--.-1--A- - ---0-- 0=y -- e -0 -0 -0 - |- -0 -uA e, -, - D - |-, -, CA - D - -0 - - 5L LB -
. 2 (0465 12 |-, ==~ -emimu-i |=ems-i=i- |00 -l - -0 4=, - A, -, - AR CD, - |, -.C - - P, - - - - {0 - - B -
30598 12 |-,-,-.-al-A- - - |- - - =D~ B - - - 0B - AL -, -, C - - G- o e - B - | e e
410966 2 .----|-2---{--- =B}~ - -~ A= -, -, - |-.-,A, -, ClA, -, C -, - |-,-,B,A, - [-,-,A,B,- |-, -, -,B, -
5(1017 L T L R T L - 1 A [ R el Pl L e i 8 ey S P P R
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Seabrook NRC Written Exam - RO
Class Response Report On Exam12 Version A

Course #  LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Terny/Year:

Response Description

<dash> correct response <#> multiple marks <space>  no response

<alphabet> student's incorrect response <*>  bonus test item
Test Items: 1-5 6-10 11-15 16-20 21-25 26-30 31-35 36-40 4145 46-50
Test Key: a,B,C,A,B|A,C,A,B,DID,C,D,D,B|B,D,C,B,BICA,CCCDD,D,A,C[CB,CCBB,B,CD,DD,ADDAIDC,B,A,B

No. StudentID Exam#

110192 12 |b,-,B,-,-|-,~,-,-,-|-.2,-,-,-|-.-,-.C.-|-,-0~,-,-A,-.-,-.-|B.C.- B, - |-, - -, -,B}-,~ -, -, - |-, -, ~.C, -
210465 122 |-,-,B,-,Al-,-,-. -, - {-,-.2a,-,- |-,-,-.a, - |-, -, - |-o-s-s---D,- D, - |- -u - s = |Fu - =By -
30598 12 {-.,-,-.~,Al-.-,~,-,-|~,-.B,~,-{-,-,-,D,-|-,B,B, -, - |-,-,-,-,-|B,D,-,D, - }-, -, =, ~,Cl-,~ -, -, - |-, =, ~, -~
410966 12 |-, -.B.~,-|-e=, - A - |- B, -, - - ==, C B = et B B e s e -
511017 i A R EP T B B N el I B Tl L ST T Pl RIS -
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Examl2 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 1 Answer: A Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group:  100.00%
. o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.40 0.00 0.00 -0.40
Frequency%: 80.00 0.00 0.00 20.00
Item 2 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 3 Answer: c Correct Responses:  Total Group: 40.00%
Point Biserial: 0.43 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 -0.43 043 0.00
Frequency%: 0.00 60.00 40.00 0.00
Item 4 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 5 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: 0.22 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: -0.22 022 000 0.00

Frequency%: 40.00 60.00 0.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 6 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 7 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 8 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.. 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 9 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: 0.26 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: -0.26 026 000 0.00
Frequency%: 20.00 80.00 0.00 0.00
Item 10 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 11 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 12 Answer: Cc Correct Responses:  Total Group: 60.00%
Point Biserial: 0.54 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: -054 0.00 054 0.00
Frequency%: 40.00 0.00 60.00 0.00
Item 13 Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: 0.22 Upper 27% of Group:  100.00%
0, .
Distractor Analysis - * indicates correct answer: Lower 27% of Group: ~ 100.00%
A B C *D
Pt-Biser.: 0.13 040 0.00 0.22
Frequency%: 20.00 20.00 0.00 60.00
Item 14 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 15 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:

A *B c D

Pt-Biser.:
Frequency%: 0.00

0.00 0.00 000 0.00

100.00 0.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57

Item 16 Answer: B Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00 Upper 27% of Group:  100.00%

Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: P 0

A *B C D
Pt-Biser.: 0.00 0.00 ©0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00

Item 17 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . e Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00

Item 18 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . g Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00  100.00 0.00

Item19  Answer: B Correct Responses:  Total Group: 20.00%
Point Biserial: 0.92 Upper 27% of Group:  100.00%

. . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A *B C D
Pt-Biser.: 0.13 092 -054 -040
Frequency%: 20.00 20.00 40.00 20.00

Item 20 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: -0.92 Upper 27% of Group:  0.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: P °

A B o] D
Pt-Biser.: 0.92 -0.92 0.00 0.00
Frequency%: 20.00 80.00 0.00 (.00

** Review item(s): A
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 21 Answer: C Correct Responses:  Total Group: 80.00%
Point Biserial: 0.26 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C b
Pt-Biser.: 0.00 -0.26 0.26 0.00
Frequency%: 0.00 20.00 80.00 0.00
Item 22 Answer: A Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group: 100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.40 -040 0.00 0.00
Frequency%: 80.00 20.00 0.00 0.00
Item 23 Answer: c Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 -040 040 0.00
Frequency%: 0.00 20.00 80.00 0.00
Item 24 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Freguency%: 0.00 0.00 100.00 0.00
Item 25 Answer: c Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A B *C D

Upper 27% of Group: 100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT ' Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 26 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: -040 000 000 040
Frequency%: 20.00 0.00 0.00 80.00
Item 27 Answer: ] Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 28 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group: - 100.00%
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 29 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B Cc D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 30 Answer: C Correct Responses:

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A B *C D

Total Group: 100.00%
Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Pt-Biser.. 0.00 0.00 0.00 0.00

Frequency%: 0.00 0.00 100.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57

Item 31 Answer: c Correct Responses:  Total Group: 40.00%

Point Biserial: 0.86 Upper 27% of Group: 100.00%

Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer: P °
y

A B *C D)
Pt-Biser.: 0.00 -0.86 0.86 0.00
Frequency%: 0.00 60.00 40.00 0.00

Item 32 Answer: B Correct Responses:  Total Group: 40.00%
Point Biserial: 0.54 Upper 27% of Group:  100.00%

. . . Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A *B (o} D
Pt-Biser.: 0.00 0.54 -040 -0.22
Frequency%: 0.00 40.00 20.00 40.00

Item 33 Answer: Cc Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% ofGroup; 100.00%

. . e Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 100.00 0.00

Item 34 Answer: C Correct Responses:  Total Group: 40.00%
Point Biserial: 0.54 Upper 27% of Group: 100.00%

. . e Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 -040 054 -0.22
Frequency%: 0.00 20.00 40.00 40.00

Item 35 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: 0.26 Upper 27% of Group:  100.00%

. . g Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:

A *B (o4 D
Pt-Biser.: 0.00 0.26 -0.26 0.00
Frequency%: 0.00 80.00 20.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 36 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.60 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 37 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 38 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group: ~ 100.00%
A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 39 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. ) oo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 40 Answer: D Correct Responses:  Total Group: 60.00%

Point Biserial: 0.65

Distractor Analysis - * indicates correct answer:
A B C *D

Upper 27% of Group:  100.00%
Lower 27% of Group: 0.00%

Pt-Biser.: 0.00 -0.40 -040 0.65

Frequency%: 0.00 20.00 20.00 60.00
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Seabrook NRC Written Exam RO

Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 41 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 42 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 43 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. i oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 44 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 000 100.00
Item 45 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
*A B C b

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Examl12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 46 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 47 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 48 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 49 Answer: A Correct Responses:  Total Group: 40.00%
Point Biserial: -0.54 Upper 27% of Group:  0.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
*A B c D
Pt-Biser.: -054 086 -040 0.00
Frequency%: 40.00 40.00 20.00 0.00
** Review item(s): B,C
Item 50 Answer: B Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A B c D

Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Examl2 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: TernvYear:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 51 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 52 Answer: Cc Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
) . L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 53  Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group; 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 54 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 55 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc D
Pt-Biser.: -0.40 000 000 0.40
Frequency%: 20.00 0.00 0.00 80.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:

Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57

Item 56 Answer: o] Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . e Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00

Item 57 Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: 0.54 Upper 27% of Group: 100.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B o4 *D
Pt-Biser.: -0.54 000 000 054
Frequency%: 40.00 0.00 0.00 60.00

Item 58 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: 0.40 Upper 27% of Group:  100.00%

Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer: P

A B C D
Pt-Biser.: -0.40 000 0.00 040
Frequency%: 20.00 0.00 0.00 80.00

Item 59 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . L Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:

A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00

Item 60 Answer: o] Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%

. . 4 Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 61 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
0, .
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
*A B Cc D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Jtem 62 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B Cc D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 63 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B Cc D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 64 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 65  Answer: c Correct Responses:  Total Group: 60.00%
Point Biserial: 0.54 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
A B *C D

Pt-Biser.: 0.00 -0.26 054 -040

Frequency%: 0.00 20.00 60.00 20.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT ‘ Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57

Item 66 Answer: A Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 100.00 0.00 0.00 0.00

Item 67 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . e Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:

A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00

Item 68 Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: -0.43 Upper 27% of Group: 0.00%

. . . Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A B C *D
Pt-Biser.: 0.00 092 -040 -043
Frequency%: 0.00 20.00 20.00 60.00
** Review item(s): B,C

Item 69 Answer: A Correct Responses:  Total Group: 80.00%
Point Biserial: -0.92 Upper 27% of Group:  0.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B c b
Pt-Biser.: -092 092 000 0.00
Frequency%: 80.00 20.00 0.00 0.00

** Review item(s). B

Item 70 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%

. . g Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B C ‘D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 0.00 100.00
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Seabrook NRC Written Exam RO

Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 71 Answer: B Correct Responses:  Total Group: 0.00%
Point Biserial: 0.00 Upper 27% of Group:  0.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A ‘B C D
Pt-Biser.: -0.54 000 054 0.00
Frequency%: 40.00 0.00 60.00 0.00
** Review item(s): C
Item 72 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . .4 Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 Q.00
Item 73 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 74 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . r Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 75 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group:  100.00%

Distractor Analysis - * indicates correct answer:

A B Cc D

Pt-Biser.:
Frequency%: 0.00

0.00 0.00 0.00 0.00

100.00 0.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Varjance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 76 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 77 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 78 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: 0.11 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C b
Pt-Biser.: -0.11 011 0.00 0.00
Frequency%: 40.00 60.00 0.00 0.00
Item 79 Answer: o] Correct Responses:  Total Group: 60.00%
Point Biserial: 0.65 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: -0.40 040 065 0.00
Frequency%: 20.00 20.00 60.00 0.00
Item 80 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: 0.26 Upper 27% of Group: 100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.26 -0.26 0.00
Frequency%: 0.00 80.00 20.00 0.00
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Examl12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 81 Answer: D Correct Responses:  Total Group: 20.00%
Point Biserial: 0.92 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: -043 000 -040 0.92
Frequency%: 60.00 0.00 20.00 20.00
Item 82 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: -0.13 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.13 0.00 000 -0.13
Frequency%: 20.00 0.00 0.00 80.00
** Review item(s): A
Item 83 Answer: D Correct Responses:  Total Group: 20.00%
Point Biserial: -0.40 Upper 27% of Group:  0.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C ‘D
Pt-Biser.: 0.00 0.00 040 -0.40
Frequency%: 0.00 0.00 80.00 20.00
** Review item(s): C
Item 84 Answer: Cc Correct Responses:  Total Group: 60.00%
Point Biserial: 0.22 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 022 -022
Frequency%: 0.00 0.00 60.00 40.00
Item 85 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: -0.43 Upper 27% of Group: 0.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.92 -0.43 -040 0.00

Frequency%: 20.00

60.00 20.00 0.00

** Review item(s): A,C
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Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 86 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 87 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 000
Frequency%: 0.00 100.00 0.00 0.00
Item 88 Answer: D Correct Responses:  Total Group: 20.00%
Point Biserial: 0.92 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 -0.26 -0.54 0.92
Frequency%: 0.00 20.00 60.00 20.00
Item 89 Answer: C Correct Responses:  Total Group: 40.00%
Point Biserial: -0.22 Upper 27% of Group: 0.00%
. . L Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.22 0.00 -0.22 Q.00
Frequency%: 60.00 0.00 40.00 0.00
** Review item(s): A
Item 90 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
A *B C D

Pt-Biser.: 0.00 0.00 0.00 0.00
100.00 0.00 0.00

Frequency%: 0.00

Page 18

05/30/03



Seabrook NRC Written Exam RO
Detailed Item Analysis Report On Examl2 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 91 Answer: C Correct Responses:  Total Group: 40.00%
Point Biserial: -0.54 Upper 27% of Group: 0.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 -0.54 054
Frequency%: 0.00 0.00 40.00 60.00
** Review item(s): D
Item 92 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 93 Answer: B Correct Responses:  Total Group: 40.00%
Point Biserial: -0.22 Upper 27% of Group:  0.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B Cc D
Pt-Biser.: 0.54 -0.22 -040 0.00
Frequency%: 40.00 40.00 20.00 0.00
** Review item(s): A
Item 94 Answer: o] Correct Responses:  Total Group: 60.00%
Point Biserial: 0.54 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 -0.54 054 0.00
Frequency%: 0.00 40.00 60.00 0.00
Item 95 Answer: B Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A *B C D

Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 0.00 000 0.00

Frequency%: 0.00 100.00 0.00 0.00
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Seabrook NRC Written Exam RO

Detailed Item Analysis Report On Exam12 Version A

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 81.00 Mean Score: 83.00
Student in this group: 5 Mode Score: 80.00 Variance: 14.40
Standard Deviation: 3.79 Highest Score: 90.00 Lowest Score: 80.00
Measure of Skewness: 1.03 Degree of Kurtosis: -0.51 Reliability Coefficient (KR20): 0.57
Item 96  Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 97 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 98  Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B c *D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 99 Answer: D Correct Responses:  Total Group: 40.00%
Point Biserial: 0.43 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B c D
Pt-Biser.: 0.00 -0.43 0.00 043
Frequency%: 0.00 60.00 0.00 40.00
Item 100  Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: 0.00 0.00 000 0.00

Frequency%: 0.00 0.00 0.00 100.00
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Seabrook NRC Written Exam SRO
Class Response Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Response Description
<dash> correct response <#> multiple marks <space> no response
<alphabet> student's incorrect response <*> bonus test item
Test Items: 51-55 56-60 61-65 66-70 71-75 76-80 81-85 86-90 91-95 96-100
Test Key: c,c,a,B,D|c,D,D,B,C|A,A,B,B,C|a,D,0,A,D|B,C,B,B,B]C,B,C,D,C|D,C,C,B,A B,B,D,C,AD,A,C,A,C|A,B,A,D,D
No. StudentID Exam#
110244 L T B P e R B e R e e hrr:-2 -] R S - i TR
210541 LA N L e S R R Rl LYY EUEE oI EPE RS VY AT A e -2 AR PEPEPEY CPEPEPE VS
310904 L o1 E R B T S R TR Rl VNP EUE oI (R E Y A R R RrL*: AP PEPEPE Lo PEPEPE
410971 L B L P D S (T T i R Rl L P e TR
510978 L R ol L - T R Sl P e = R Pl R - R Rl o - TR TR
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Seabrook NRC Written Exam SRO
Class Response Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Response Description
<dash> correct response <#> multiple marks <space> no response
<alphabet> student's incorrect response <*>  bonus test item
Test Items: 1-5 6-10 11-15 16-20 21-25 26-30 31-35 36-40 41-45 46-50
Test Key: a,B,C,A,B|A,C,,B,D(D,C,D,D,B |B,D,C,B,B|CA,CCCD,D,D,A,C|CB,CC,B[B,B,CD,DMD,AD,DA|D,C,B,AB
No. StudentID Exam#
110244 L e R el C T 1o R N R e R e P |- F e R L. | RPEFEPEPE LPEPEDS - P
210541 2 t+.-,-,-.--.0,-,A,-|-,-,B,-,-{~,-,-,C,-|B,D,B, -, - |-, ~,-,-,-|-,C,-,D,- |-, -, ~,-,-}-,-,-,- ,B|- ,A,-,C,-
3 (0904 12 |- --- - s e -e- B - - - o -uB - - - s D e s - e - - B -
410971 12 |-,-B, -~ - |- A - - D - - e Rl B - b A - - - - - -G -
5(0978 12 |-,-.B,-,-[-.-,-. D= |-v-s=v-s- [+~ C, - Dy -, - -~ |-s ===, - [B.Co - - - -0 - -, =B - - - - |-, -, - B,D
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Muitimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 1 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.06 000 0.00
Frequency%: 100.00 0.00 0.00  0.00
Item 2 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 1 00.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 3 Answer: o Correct Responses:  Total Group: 60.00%
Point Biserial: -0.23 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.23 -023 0.00
Frequency%: 0.00 40.00 60.00 0.00
** Review item(s): B
Item 4 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 5 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
A *B c D

Pt-Biser.: 0.00 0600 000 0.00
100.00 0.00 0.00

Frequency%: 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Termy/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69

Item 6 Answer: A Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . .. Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00

Item 7 Answer: Cc Correct Responses:  Total Group: 80.00%
Point Biserial: 0.81 Upper 27% of Group:  100.00%

. . g Lower 27% of Group:  0.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 081 -0.81
Frequency%: 0.00 0.00 80.00 20.00

Item 8 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00

Item 9 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: 0.81 Upper 27% of Group:  100.00%

. . .o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer: P 0

A B C D
Pt-Biser.: -0.81 0.81 0.00 -0.18
Frequency%: 20.00 60.00 0.00 20.00

Item 10 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . o Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: ° P ’

A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Terny/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 11 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 12 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 13 Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: 0.29 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pi-Biser.: 0.46 -0.81 0.00 029
Frequency%: 20.00 20.00 0.00 60.00
** Review item(s): A
Item 14 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
) ) .. Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 15 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00

100.00 0.00

Frequency%: 0.00 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69

Item 16 Answer: B Correct Responses:  Total Group: 60.00%

Point Biserial: -0.85 Upper 27% of Group: 0.00%

. . e Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A *B C D
Pt-Biser.: 0.00 -0.85 0.00 0.85
Frequency%: 0.00 60.00 0.00 40.00

** Review item(s): D

Item 17 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%

. . ey Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00

Item 18 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00

Item 19 Answer: B Correct Responses:  Total Group: 40.00%
Point Biserial: 0.85 Upper 27% of Group: 100.00%

. . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A *B C D
Pt-Biser.: 0.00 0.85 -0.85 0.00
Frequency%: 0.00 40.00 60.00 0.00

Item 20 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: -0.59 Upper 27% of Group:  0.00%

. . g Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:

A *B Cc D
Pi-Biser.: 0.59 -0.59 0.00 0.00
Frequency%: 20.00 80.00 0.00 0.00

** Review item(s): A
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 21 Answer: o] Correct Responses:  Total Group: 40.00%
Point Biserial: 0.85 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 -0.71 085 -0.18
Frequency%: 0.00 40.00 40.00 20.00
Item 22 Answer: A Correct Responses:  Total Group: 80.00%
Point Biserial: 0.81 Upper 27% of Group:  100.00%
i . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.81 0.00 0.00 -0.81
Frequency%: 80.00 0.00 0.00 20.00
Item 23 Answer: C Correct Responses:  Total Group: 80.00%
Point Biserial: 0.81 Upper 27% of Group: 100.00%
. . L Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 -0.81  0.81 0.00
Frequency%: 0.00 20.00 80.00 0.00
Item 24 Answer: o] Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 000 000 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 25 Answer: Cc Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
Lower 27% of Group:  100.00%

Distractor Analysis - * indicates correct answer:
A B *C D

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item26  Answer D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 27 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 28  Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: -0.33 Upper 27% of Group:  100.00%
) . o Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 -0.05 046 -0.33
Frequency%: 0.00 20.00 20.00 60.00
** Review item(s). B,C
Item 29  Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 30 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00

0.00 100.00 0.00

Frequency%: 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 31 Answer: c Correct Responses:  Total Group: 40.00%
Point Biserial: -0.71 Upper 27% of Group: 0.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C b
Pt-Biser.: 0.00 0.71 -0.71  0.00
Frequency%: 0.00 60.00 40.00 0.00
** Review item(s): B
Item 32 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: 0.81 Upper 27% of Group:  100.00%
. . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pi-Biser.: 0.00 0.81 -0.81 0.00
Frequency%: 0.00 60.00 40.00 0.00
Item 33 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 34 Answer: c Correct Responses:  Total Group: 60.00%
Point Biserial: 0.71 Upper 27% of Group:  100.00%
i i Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 071 -0.71
Frequency%: 0.00 0.00 60.00 40.00
Item 35 Answer: B Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A *B C D

Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00  0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 36  Answen: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . L Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 37 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 38 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
A B *C b
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 39 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
A B Cc *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 40 Answer: D Correct Responses:  Total Group: 40.00%
Point Biserial: -0.71 Upper 27% of Group:  0.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
A B C *D

Pt-Biser.: 0.85 -0.18 0.00 -0.71
Frequency%: 40.00 20.00 0.00 40.00

** Review item(s): A,B
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 41 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 42 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . L. Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 43 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . .4 Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 44 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group:  100.00%
A B Cc *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 45 Answer: A Correct Responses:  Total Group: 80.00%

Point Biserial: 0.81

Distractor Analysis - * indicates correct answer:
*A B C D

Upper 27% of Group:  100.00%
Lower 27% of Group: 0.00%

Pt-Biser.: 0.81 -0.81 0.00 0.00
Frequency%: 80.00 20.00 0.00 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Examl2 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item46  Answer D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
) . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 47  Answer: c Correct Responses:  Total Group: 80.00%
Point Biserial: 0.81 Upper 27% of Group:  100.00%
i . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: -0.81 0.00 0.81 0.00
Frequency%: 20.00 0.00 80.00 0.00
Item 48 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 49 Answer: A Correct Responses:  Total Group: 0.00%
Point Biserial: 0.00 Upper 27% of Group: 0.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 029 -0.29 0.00
Frequency%: 0.00 60.00 40.00 0.00
** Review item(s); B
Item 50 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: 0.18 Upper 27% of Group:  100.00%
Lower 27% of Group:  100.00%

Distractor Analysis - * indicates correct answer:
A *B C D

Pt-Biser.: 0.00 018 0.00 -0.18
Frequency%: 0.00 80.00 0.00 20.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69

Item 51 Answer: (o Correct Responses:  Total Group: 80.00%

Point Biserial: 0.81 Upper 27% of Group: 100.00%

. . . Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A B *C D
Pt-Biser.: 0.00 0.00 0.81 -0.81
Frequency%: 0.00 0.00 80.00 20.00

Item 52 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: P

A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00

Item 53 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00

Item 54 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%

. . g Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A *B C D
Pt-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00

Item 55 Answer: D Correct Responses:  Total Group: 60.00%
Point Biserial: 0.71 Upper 27% of Group:  100.00%

. . . Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:

A B Cc *D
Pt-Biser.: -0.81 000 -0.05 0.71
Frequency%: 20.00 0.00 20.00 60.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 56 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 57 Answer: D Correct Responses:  Total Group: 40.00%
Point Biserial: 0.85 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: 0.00 -0.18 -0.71 0.85
Frequency%: 0.00 20.00 40.00 40.00
Item S8 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 59  Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Gr()up: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B Cc D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 60 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 Q.00

Frequency%: 0.00 0.00  100.00 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 61 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 62 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C b
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 63 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 64 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 65 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 66 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 67 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group: - 100.00%
A B C *D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 68 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: -0.46 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B C *D
Pt-Biser.: 0.46 0.00 000 -045
Frequency%: 20.00 0.00 0.00 80.00
** Review item(s): A
Item 69 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer: Lower 27% of Group: - 100.00%
*A B Cc D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 70 Answer: D Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A B c *D

Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Examl12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 71 Answer: B Correct Responses:  Total Group: 40.00%
Point Biserial: 0.33 Upper 27% of Group:  100.00%
; . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A *B Cc D
Pt-Biser.: -0.71 0.33 046 0.00
Frequency%: 40.00 40.00 20.00 0.00
** Review item(s): C
Item 72 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. ) L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 73  Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 74 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B Cc D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 75 Answer: B Correct Responses:  Total Group: 100.00%

Point Biserial: 0.00

Distractor Analysis - * indicates correct answer:
A *B Cc D

Upper 27% of Group: 100.00%
Lower 27% of Group: 100.00%

Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 76 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . s Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 77 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . .o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 78 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 79 Answer: D Correct Responses:  Total Group: 20.00%
Point Biserial: 0.46 Upper 27% of Group: 0.00%
. . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 059 -0.85 046
Frequency%: 0.00 20.00 60.00 20.00
** Review item(s): B
Item 80  Answer: c Correct Responses:  Total Group: 60.00%
Point Biserial: -0.33 Upper 27% of Group:  0.00%
. . . Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 059 -0.33 -0.18

Frequency%: 0.00 20.00 60.00 20.00

** Review item(s): B,D
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 81 Answer: D Correct Responses:  Total Group: 80.00%
Point Biserial: 0.05 Upper 27% of Group:  100.00%
. . .y Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B Cc *D
Pt-Biser.: 0.00 0.00 -0.05 0.05
Frequency%: 0.00 0.00 20.00 80.00
Item 82 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 83 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 84 Answer: B Correct Responses:  Total Group: 60.00%
Point Biserial: 0.71 Upper 27% of Group:  100.00%
. . oo Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: -0.71 0.71 0.00 0.00
Frequency%: 40.00 60.00 0.00 0.00
Item 85 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
Lower 27% of Group: 100.00%

Distractor Analysis - * indicates correct answer:
*A B C D

Pt-Biser.: 0.00 0.00 000 0.00
Frequency%: 100.00 0.00 0.00 0.00
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 86 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A *B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 C.00
Item 87 Answer: B Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . . g Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 100.00 0.00 0.00
Item 88 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . r Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 000 100.00
Item 89 Answer: o} Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . .y Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 100.00 0.00
Item 90 Answer: A Correct Responses:  Total Group: 20.00%
Point Biserial: 0.46 Upper 27% of Group:  0.00%
. . o Lower 27% of Group: 0.00%
Distractor Analysis - * indicates correct answer:
*A B c D
Pt-Biser.: 0.46 -0.33 -0.05 0.00

Frequency%: 20.00 60.00 20.00 0.00
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Seabrook NRC Written Exam SRO

Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69
Item 91 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B (o] *D
Pi-Biser.: 0.00 000 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
Item 92 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00
Item 93 Answer: c Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . T Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00  100.00 0.00
Item 94 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
. . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 000 000 0.00
Item 95 Answer: C Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group: 100.00%
PP p
R . Lo Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:
A B *C D
Pt-Biser.: 0.00 0.00 000 0.00

0.00  100.00 0.00

Frequency%: 0.00
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Seabrook NRC Written Exam SRO
Detailed Item Analysis Report On Exam12 Version B

Course #: LOIT Instructor:
Course Title: LOIT Description:
Day/Time: Term/Year:
Total Possible Points: 100.00 Median Score: 87.00 Mean Score: 87.40
Student in this group: 5 Mode Score: Multimodal Variance: 15.44
Standard Deviation: 3.93 Highest Score: 92.00 Lowest Score: 81.00
Measure of Skewness: -0.40 Degree of Kurtosis: -1.07 Reliability Coefficient (KR20): 0.69

Item 96 Answet: A Correct Responses:  Total Group: 80.00%

Point Biserial: 0.18 Upper 27% of Group:  100.00%

. . L Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.18 -0.18 000 0.00
Frequency%: 80.00 20.00 0.00 0.00

Item 97 Answer: B Correct Responses:  Total Group: 80.00%
Point Biserial: 0.05 Upper 27% of Group:  100.00%

. . g Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer:

A *B C D
Pt-Biser.: 0.00 0.05 0.00 -0.05
Frequency%: 0.00 80.00 0.00 20.00

Item 98 Answer: A Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . g Lower 27% of Group:  100.00%
Distractor Analysis - * indicates correct answer:

*A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 100.00 0.00 0.00 0.00

Item 99 Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . . Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: i ’

A B C *D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00

Item 100  Answer: D Correct Responses:  Total Group: 100.00%
Point Biserial: 0.00 Upper 27% of Group:  100.00%

. . o Lower 27% of Group: 100.00%
Distractor Analysis - * indicates correct answer: P ’

A B C D
Pt-Biser.: 0.00 0.00 0.00 0.00
Frequency%: 0.00 0.00 0.00 100.00
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